Corner Brook Intermediate Math 9

Unit 7: Similarity and Transformations Name:

7.3 Similar Polygons - Notes

When one polygon is an _en\_aqgw_\tn{' or_yeduction of another polygon, we say

the polygons are Similay . Similar polygons have the Sﬂme shape, but not

necessarily the same D € .
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We list the corresponding angles and the pairs of corresponding sides.
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Properties of Similar Polygons

When two polygons are similar:

1. Yheir QONCSDOI\J"\Q m\gles ave eaual AND

2. theiy Corresponding  Sides ave Pxopoﬂ.ono\l

It is also true that if two polygons have these properties, then the polygons are similar.

Quadrilateral ABCD ~ Quadrilateral PQRS
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Identify pairs of similar rectangles. Justify the answer. P(B BC
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a) Draw a larger pentagon that is similar to this pentagon.

b) Draw a smaller pentagon that is similar to this pentagon.
) P & P & 2.8cm 2.8cm

Explain why the pentagons are similar.
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Example (3): These two octagonal garden plots are similar.
a) Calculate the length of GH
b) Calculate the length of NP.
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